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Section : Mental Abilityl

Q.1 Find the wrong term in the series:

LJH, IGE, FCB, CAY
Ans X 1 cay

o 2. FcB
< 3. LH
X 4.1GE

Question ID : 54592730303

Q.2 Ani is the daughter of Mani. Mani’s mother is Amaya. Emi is Amaya’s mother. Emi’s
husband is Herry. Krishna is the mother in law of Herry. How is Ani related to Herry?

Ans ( 1. Great Grand Daughter
x 2. Grand Niece

x 3. Daughter
x 4. Great Grandson’s Daughter

Question ID : 54592730317

Q.3 Inthe following question, select the related letter / word / number from the given
alternatives.

Brain : human :: . computer
Ans x 1. Keyboard

X 2. RAM

25 3. Hard disk

o 4.cpu

Question ID : 54592730307

Q.4 Find out the next term:

GH10, MN15, RS20,
Ans J 1. WX25

X2 vz
X 3.GIF
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X 4.EF7

[ Question ID : 54592730302
Q.5 Choose the odd one from the given alternatives.
Ans X' 1 FEC
2wt
X 3.RQO
75 4 HF
[ Question ID : 54592730305

Q.6 Inthe following question, select the related letter/word/number from the given
alternatives.

GROW : COMV : : SHOW :
Ans X' 1. OMEV

W 2. oemv
X 3. PFWM

/5 4. ROMV

[ Question ID : 54592730309

Q.7 Inthe question below is a statement followed by two conclusions numbered | and II.
You have to assume everything in the statement to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.

Statement:
I. All employees who do not work properly bring a bad name for themselves and also
are a liability to an organization.

Conclusions:
I. Such employees should be fired from the organisation.
II.Strict action is required in such cases.

Ans X 1. Only conclusion | follows
( 2. Only conclusion Il follows

x 3. Neither conclusion | nor conclusion Il follows

x 4. Both conclusion | and conclusion Il follow

[ Question ID : 54592730319

Q.8 Inthe question below, there are three statements followed by two conclusions. You
have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.

Statements:

I. All fans are bulbs.

Il. Some bulbs are walls.
IIl. All walls are roofs.

Conclusions:
I. Some walls are bulbs.
Il. Some roofs are fans.

Ans x 1. Either conclusion | or Il follows

i 2. Only conclusion | follows
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x 3. Only conclusion Il follows

x 4. Neither conclusion I nor Il follows

[ Question ID : 54592730318

Q.9 In apsychology test of 6 students- P, Q, R, A, B, and C, the teacher found following
information regarding the intelligence level of students.

P is more intelligent than A.
R is less intelligent than C.
P is more intelligent than Y.
Q is as much intelligent as B.

If B and C are not the most intelligent student, than who will be the most intelligent
student?

Ans X 1A
K 20
5 3R
v ar

[ Question ID : 54592730313

Q.10 In the following question, a group of letters is given which are numbered 1, 2, 3,4, 5
and 6. Below are given four alternatives containing combinations of these numbers.
Select that combination of numbers so that letters arranged accordingly, form a
meaningful word.

LRPEAY
123456

Ans X' 1. 425613
75 2.315624

75 3.314625

W 2.315642

[ Question ID : 54592730312

Q.11 If ‘ball’ is ‘tennis’, ‘tennis’ is ‘chess’, ‘chess’ is ‘hockey’, ‘hockey’ is ‘ludo’ and ‘ludo’ is
‘basketball’, what is cricket played with?

Ans X' 1 Ludo
75 2. Ball
J 3. Tennis
x 4. Hockey

[ Question ID : 54592730311

Q.12 If HEAD is coded as 1438 and BRING is coded as 76952, what do the figures 6438952
stands for?

Ans X' 1 HIGHER
5 2. DIEING
75 3. HEATING

o 4. READING

[ Question ID : 54592730310
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Q.13 Find the odd one out from the given alternatives.
Ans “ 1. Brass

x 2. Zinc
x 3. Silver
x 4. Iron

[ Question ID : 54592730304

Q.14 From the given responses, find the missing letter in the series:

GJ, KH,IL,MJ,?

Ans  of 1 KN
K 2.KL
X 3. MN
p SERTY

[ Question ID : 54592730301

Q.15 Choose the odd one from the given alternatives.
Ans X 1 HI:SR

X 2.EF:w

X 3.CD:xw

W 2v:PQ

[ Question ID : 54592730306

Q.16 A, B, C, D and E play Hockey. 3 players from Hockey were selected to form Team 1.
I. A is always selected.
Il. Exactly one among B and C is always selected

IIl. D will not participate if B is selected.
IV. E will not play with C

Which among the given option is a possibility of team to be selected?
Ans \, 1. ABE

/X 2. ADE
X 3.BEC
/X 4.ADB

[ Question ID : 54592730316

Q.17 There are five books kept one over the other. Two books are of English language, two
books are of Management, and one book is of Statistic. One book of Management is in
the top shelf and other one is in the last shelf. Book of Statistic is kept just above
English language book. One book of English is kept just above Management book.
English books are kept adjacent to each other.

Which book is kept in second shelf?
Ans \f 1. Statistic

x 2. Either English language or Statistic

x 3. Management
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x 4. English language

[ Question ID : 54592730315

Q.18 Five students Karan, Charan, Lavan, Pavan, and Sravan, are top five rankers of a
class. No two students got same rank. The number of students who got better rank
than Pavan is same as those who got a worse rank than Lavan. Only one student got a
worse rank than Karan. Who among the following is the first ranker?

Ans  of 1 Lavan
x 2. Sravan
X 3. Pavan
x 4. Karan

[ Question ID : 54592730314

Q.19 Complete the following series:

10, 20, 60, 300, ?
Ans \f 1. 2100

75 2.2120
/X 3.3500
X 41200

[ Question ID : 54592730320

Q.20 In the following question, select the related letter / word / number from the given
alternatives.

TIME : CLOCK ::

Ans X" 1 Hair spring : wrist watch
« 2. Date : calendar
X 3. Sincerity : disloyal

x 4. Paper : pen

[ Question ID : 54592730308

Section : Mental Ability2

Q.1 Inthe following question, select the related letter / word / number from the given
alternatives.

420, 425, 440

Ans \f 1. 465
75 2,470
X 3.475
X 4455

[ Question ID : 54592730325

Q.2 Inthe following question an unfolded dice is given. From the given alternatives which
of the following will be opposite of A?
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v]

[c]
B[~ [>]

—
—

X

Ans X 1.0
X 2u
X 3E
W o

Question ID : 54592730339

Q.3 Inthe following questions, element (ii) is related to element (i) in a particular way in
four pairs of figures. Find out the pair of figures in which the element (ii) is not related
to element (i).

Ans - <]@

|9 @
< [®]E

[ Question ID : 54592730335

Q.4 The second figure in the first unit of the problem figures bears a certain relationship to
the first figure. You have to select that figure from the set of answer figures which
would come in the place of question mark (?)

Problem Figures
A 00 g A O

o ol0 Vv * o O
1 2 3 4

Ans

X a4

B Ol |4 ol|l0 © I O
O 0 loolld of n o

[ Question ID : 54592730333
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Q.5 Inthe following question a piece of paper is folded in the manner shown in the
question figure(s). Select the figure out of the answer choices showing the unfolded
pattern after the punches (cut).

Question Figures

,
s
b cacasecdinanenes)
.
L

Ans O

xS
L

[ Question ID : 54592730337 ]

Q.6 Which of the following diagrams best represents a relationship among Tank, Lake and
Sea?

Ans

P 8

(o

[ Question ID : 54592730330 ]

Q.7 Inthe given figure, the rectangle represents Arts, and Hexagon represents Commerce
and triangle represents Science circle represents other group. Which number
represents the group of person of Science and arts but not commerce or any other
group?
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Ans X 1.7
X 2.4
X 3.8
v N

[ Question ID : 54592730331 ]

Q.8 Find the wrong term in the given series:

31, 63, 127, 250, 511

Ans X' 131
X 2127
o 3. 250
X .63

Question ID : 54592730321 ]

Q.9 Count the number of cubes in the given figure:

[ Question ID : 54592730340 ]

Q.10 Given interchanges: signs + and x, and numbers 7 and 21; then the value of 7 x 21 + 2
is

Ans )( 1.8
X2
W36
X .16

[ Question ID : 54592730327 ]
Q.11 Choose the odd number pair from the given options:
Ans X' 1 342252
X 2.624:534
V 3.442: 362
X 4.241:151
Question ID : 54592730323 ]

—
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Q.12 Find out which of the figure (a), (b), (c), (d) can be formed from the pieces given in fig.
X).

Question
Figure

Ans

X a4

S
> B DI B

[ Question ID : 54592730338
Q.13 Insert the missing number:
2 3 6
lo¥oro!
- 5 Bl
Ans X' 1 82
X 2,94
/X 3.86
W 4. 80
[ Question ID : 54592730326

Q.14 Choose an appropriate figure from the four numbered figures for the place of the
questions mark (?).

Problem Fizurss

-~

Ans

b {
g @)G@
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[ Question ID : 54592730334 ]

Q.15 Two figures forming the problem figure and four other answer figures are given. Select
a answer figure which possess the same characteristic as Question figure.

Question figures

#

Ans

<
& ||| Do |ee| B

Question ID : 54592730332

Q.16 Choose the correct water image from the given alternatives.

CAT
Ans X1 LV D
vo2CVl
X3CAL
KaCGVT

Question ID : 54592730336

Q.17 Choose the odd number pair from the given options:

Ans X' 1 16:47:49

“2.10:38:66

75 3.25:56:36

K 4.4:23:9

Question ID : 54592730324

Q.18 Choose the odd one from the given options:

Ans x 1. 38
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X 2.7
75 3.96
W .64

Question ID : 54592730329

Q.19 In the question given below, there is a statement followed by two conclusions. You
have to take the given statement to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.

Statements:

P=U<M<K<I>N

Conclusions:

L N=K

oni=p

Ans “ 1. If only conclusion Il is true

X 2. If either conclusion | or Il is true
x 3. If only conclusion | is true

x 4. If neither conclusion I nor Il is true

Question ID : 54592730328

Q.20 Choose the odd one from the given options:
Ans X' 1 284

75 2.1089
o 3.861
X 4.576

Question ID : 54592730322

Section : General Awarenessl

Q.1 v=u+at,given is the equation of motion. Which of the following pairs given are not
correctly matched in reference to the above equation.

Ans J 1. v = distance travelled
75 2. u = initial velocity
X 3. a = acceleration

x 4. t=time

Question ID : 54592730348

Q2 7 fMiferad 7 A F19 M 98MNR ¥ SAYRT id HERINR | a7 8d 8
‘g &2 Ans 25 1. 31Q BT STAURT

< 2. % AR STAURT

W 3T ko

X 4.3 T YT T SAYURT

Question ID : 54592730358
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Q.3 Which of the following rivers is known as Tsang Po in Tibet and Jamunain
Bangladesh?

Ans X" 1 Yamuna

“ 2. Brahmaputra

x 3. Ganga
X 4. Indus

Question ID : 54592730356

Q.4 Biopsy and histopathological studies of the tissue and blood and bone marrow tests,
are the diagnostic tests for:

Ans X' 1. Malaria
“ 2. Cancer

x 3. Cholera
/X 4. AIDS

Question ID : 54592730355

Q.5 The Ganga-Satluj plains in the north-west and black soil region of the Deccan is
important for production of which crop?

Ans 3 1 Bajra
X 2. Rice
W 3. Wheat
X 4. Ragi

Question ID : 54592730359

Q.6 The Phyang Tsedup is a festival in the Phyang Monastery of
Ans X' 1 Mawsynram

x 2. Aizwal
o 3. Ladakh

x 4. Gangtok

Question ID : 54592730343

Q.7 Which of the following are tested to show the presence of carbohydrates in food?

Ans X' 1. Protein

X 2. Fats

x 3. Vitamins

“ 4. Starch

Question ID : 54592730350

Q.8 If aperson is infected with some deadly microbes to which quick immune response is
required, we need to directly inject the preformed antibodies. This type of
immunisation is known as:

Ans X 1. Active immunisation

« 2. Passive immunisation

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019281/1258019281S12D560/15680146085994096/112. ..

12/55



9/10/2019 https://cdn.digialm.com//per/gOl/pubMﬁslganA’-s}éQrQ%JQQ§0‘(Jer1)/1258019281/1258019281512D560/156801460859. .

x 3. Allergic immunisation

X 4. No such type of immunisation exist

Question ID : 54592730354

Q.9 Gustatory receptors will detect (i) while olfactory receptors will detect (i) .
Ans X 1 (i) Taste, (i) touch

25 2. (i) touch, (i) smell

o 3. (i) Taste, (ii) smell

25 4. (i) smell, (i) taste

Question ID : 54592730353

Q.10 Burrakatha is a highly dramatic form of ballad of
Ans x 1. Tamil Nadu
x 2. Madhya Pradesh

( 3. Andhra Pradesh

X 4. Uttar Pradesh

Question ID : 54592730342

Q.11 In which of the following Union Budgets was the PM-KISAN or Pradhan Mantri Kisan
Samman Nidhi launched?

Ans X' 1. Interim Budget 2019
o 2. Union Budget 2019
X 3. Union Budget 2017

Z5 4. Union Budget 2018

Question ID : 54592730345

Q.12 Where is the Golconda Fort situated?

Ans X' 1 Nashik
( 2. Hyderabad

X 3. Bengaluru

X 4. Nainital

Question ID : 54592730344

Q.13 Which of the following is not indicated by elevated Total Dissolved Salts (TDS)?
Ans x 1. Salty or brackish taste

x 2. Causes water to be corrosive
« 3. It is a serious health hazard

X 4. elevated levels of ions

Question ID : 54592730351

Q.14 The annual population growth rate of India according to Census 2011 is:

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019281/1258019281S12D560/15680146085994096/112. .. 13/55



9/10/2019 https://cdn.digialm.com//per/gOl/pub%(‘){l\éﬁslglngl[s}{egr@9@'!QQ§0‘(Jer1)/1258019281/1258019281312D560/156801460859. .

Ans " 1. 2.54 percent

x 2. 2 percent

“ 3. 1.64 percent

x 4. 4 percent

Question ID : 54592730360

Q.15 Which of the following options has the correct sequence of mountain ranges from
North to South in India?

Ans x 1. Zaskar, Karakoram, Ladakh, Shiwalik
x 2. Ladakh, Karakoram, Shiwalik, Zaskar
x 3. Karakoram, Zaskar, Ladakh, Shiwalik

« 4. Karakoram, Ladakh, Zaskar, Shiwalik

Question ID : 54592730357

Q.16 Which of the following abiotic factor affects seeds as they grow into young plants?
Ans o 1. Air, water, heat and light
x 2. Air, water and heat only

75 3. Water and light only

X 4. Air and water only

Question ID : 54592730352

Q.17 Which of the following is an economic condition in which there is a simultaneous
inflation with high unemployment and stagnant demand?

Ans “ 1. Stagflation
X 2. Hyperinflation
x 3. Deflation

x 4. Recession

Question ID : 54592730347

Q.18 What is the thinking behind adapting the “sky blue” coloured theme in the Economic
Survey 2018-19?

Ans X' 1. Warding off the global risks
x 2. Managing the financial adversities
« 3. New ideas for policymaking

x 4. Preparing to meet the needs of the young demography

Question ID : 54592730346

Q19 Wis TR PWRSF | FITHIRUIG 3
Ans X 1 wa

X 2. wfia

X 3@

« 4. ] g-AdIcHh
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Question ID : 54592730341

Q20 JEWRES FIGNAGTA YA RAC@E A@IE| T &
Ans X" 1 T T Ui IR BT 81

75 2 ek AT R
75 3. 9T 1 A of Ak BT B
V 1w ETRa cRka AT R

Question ID : 54592730349

Section : General Awareness2

Q.1 Which of the following is a book written by Nirad C. Chaudhari?
Ans ( 1. The Autobiography of an Unknown Indian
x 2. A Suitable Boy

x 3. A Train to Pakistan

X 4. Discovery of India

Question ID : 54592730371

Q.2 Which of the following aspects of the Indian Constitution was described by Dr. B. R.
Ambedkar as a ‘novel feature’?

Ans “ 1. Directive Principles of State Policies
x 2. Fundamental Duties
X 3. Preamble

x 4. Fundamental Rights

Question ID : 54592730374

Q.3 Who is the Head of the World Health Organisation (WHO) and where is its
headquarters located?

Ans x 1. Tedros Adhanom, The Hague
x 2. Pascal Lamy, Geneva
X 3. Pascal Lamy, The Hague

( 4. Tedros Adhanon, Geneva

Question ID : 54592730372

Q.4 Who out of the following is the present President of France?
Ans x 1. Francois Hollande
x 2. Justin Trudeau

“ 3. Emmanuel Macron

x 4. Angela Merkel

Question ID : 54592730369
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Q.5 Which of the following sportsperson and his respective sport is incorrectly matched?

Ans X" 1 Andy Murray - Tennis
x 2. Manuel Neuer - Football

« 3. Sebastian Vettel — Hockey

x 4. Peter Handscomb - Cricket

Question ID : 54592730380

Q.6 Which of the following options have the correct sequence of the Mughal emperors
chronologically?

Ans x 1. Jehangir, Akbar, Humayun, Shah Jahan
“ 2. Humayun, Akbar, Jehangir, Shah Jahan
X 3. Shah Jahan, Akbar, Jehangir, Humayun

x 4. Akbar, Shah Jahan, Humayun, Jehangir

Question ID : 54592730363

Q.7 Who out of the following is considered as the “father of modern chemistry”?
Ans X' 1. Henry Moseley
( 2. Antoine-Laurent de Lavoisier

x 3. John Newlands

x 4. Dmitri Mendeleev

Question ID : 54592730373

| ST 82 ANS X 1. arghd ded. wadt SR

R g I @ AT
X 2. R 9 ek TRTesh 3R R eq FmuTs arerdiaren
W 3 TR eR.F T e TR iR AT LA, wTach
/< 4. TREAE). 3R, P UM 3 W SR AR Wik TRISSH

| Question ID : 54592730375 |

Q.9 (i) became the first player to score (ii) centuries in a single World Cup
edition recently.

Ans X 1. (i) Virat Kohli (ii) 3

o 2. (i) Rohit Sharma (i) 5
25 3. (i) Johnny Bairstow (ii) 4

25 4. (i) Kane Williamson (ii) 5

Question ID : 54592730378
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Q.10 What is the name of the book where the rules made by the Buddhist Sanghas were laid
down?

Ans X' 1 Stotra

x 2. Vinaya Pitaka
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« 3. Mahabhinishkramana

X 4. Panchatantra

Question ID : 54592730362

Q.11 India’s latitudinal and longitudinal extent extends from _—_ respectively.
Ans x 1. 12°4'N and 40°6'N and 48°7'E and 77°25'E

( 2. 8°4'N and 37°6'N and 68°7'E and 97°25'E

x 3. 18°4'N and 47°6'N and 18°7'E and 37°25'E

75 4.28°4N and 57°6'N and 8°7'E and 29°25'E

Question ID : 54592730361

Q.12 In which of the following stadiums was the final match of the ODI World Cup 2019
held?

Ans x 1. Emirates Old Trafford
X 2. Headingley

( 3. Lord’'s

x 4. Edgbaston

Question ID : 54592730379

Q.13 Lord Hastings became the first Governor General in India in .
Ans X' 11772

X 21778
X 3.1775
W 21773

Question ID : 54592730365

Q.14 Who out of the following was a businessman and publicist settled in London, and also
a member of the British Parliament for some time?

Ans X 1. Pherozeshah Mehta
x 2. Surendranath Banerji
( 3. Dadabhai Naoroji

X 4. Romesh Chandra Dutt

Question ID : 54592730367

Q.15 Which of the following films won the Best Film Award at the Oscars 2019?
Ans « 1. Green Book
x 2. BlacKkKlansman

x 3. Roma

X 4. Bohemian Rhapsody

Question ID : 54592730370

| Q.16 |
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I TP GEAT IR & N, 590 w81 a1 91 & 9 1859 A Nd arma wifas &
AP Ad FA > Dagyad w1 Na sgey AR FAS DagaeRr s
HYT STCI?
Ans X" 1 ARSI e ot
X 2 3T Tw a9 YUreeE

W 3 ST
X 4 TsTud

| guestion ID : 54592730366 I

Q.17 Which of the following cabinet ministers and his portfolio is correctly matched?

Ans x 1. Amit Shah — Ministry of Defence

x 2. Ravi Shankar Prasad — Ministry of Food Processing Industries
X 3. Ram Vilas Paswan — Ministry of Rural Development

( 4. Nitin Jairam Gadkari — Ministry of Micro, Small and Medium Enterprise

Question ID : 54592730368

Q.18 SaTeRaTal A 7 $H IR W B fAUTHHHT 7 R u® 3509 ¥ T &
M agrar? Ans K 1. 26 SFaRk, 1946

o 2. 13 [, 1946

75 3. 24 fGTR, 1946

75 4. 22 SR, 1946

Question ID : 54592730377

Q.19 Which of the following Constitutional Amendment Acts is related to the transfer of the
Berubari Union No. 12 from India to Pakistan?

Ans “ 1. 9th Constitutional Amendment Act
x 2. 7th Constitutional Amendment Act
x 3. 4th Constitutional Amendment Act

x 4. 2nd Constitutional Amendment Act

Question ID : 54592730376

Q.20 Who out of the following belongs to the Sayyid Dynasty of the Delhi Sultanate?
Ans X 1. Shamshuddin litutmish
X 2. Ghiyasuddin Balban

x 3. Raziyya Sultana

o 4. Khizr Khan

Question ID : 54592730364

Section : Arithmetic Abilityl
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Q.1 What least value must be assigned to * so that the number 4567*234 is divisible by 9?
Ans
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o is
K 2.3
X 3.4
K a2

Question ID : 54592730389

Q.2 What approximate value should come in place of the questions mark (?) in the
following questions?

2 of4011.33 + — of 3411.22 =2
8 10

Ans X' 14930
75 2.4810
o 3. 4890
X 4. 4980

Question ID : 54592730383

Q.3 A shepherd has 945 brown sheeps and 2475 red sheeps. He wants to graze them in
minimum number of groups in such a way that each group has same colour of animals
and also contains equal no. of animals in each group. Find such minimum no. of
groups.

Ans X1 56
X 2.84
X 3.70
W 276

Question ID : 54592730387

Q.4 What should come in place of the '?" in the following question?

JJlsoo +576 = (2)?

Ans X' 181
X 2.3
W 3202
75 4.6561

Question ID : 54592730382

Q.5 The number of boys and girls in aclass is in the ratio 5 : 3. 20% of the boys denied to
go for a picnic while 30 girls are ready to go for the picnic. If total 94 students are
ready to go for the picnic, then what is the total number of girls in the class?

Ans  of 1 48
< 2.33
X 351
X 439

[ Question ID : 54592730394 ]
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Q.6 There are three numbers a, b and c. 25% of ais equal to the 12% of b. 20% of b is equal
to the 10% of c. By what percent c is more than a?

Ans X' 1 250 percent

x 2. 24 percent

“ 3. 316.67 percent

75 4.125.33 percent

Question ID : 54592730395

Q.7 The average of six numbers is 75. The average of first five numbers is 64. The average
of last five numbers is 80. Find the difference between first and last number.

Ans X' 1 65
X 2.50
/X 394
W 280

Question ID : 54592730392

Q.8 The selling price of a product A and a product B are in the ratio 5: 1. Product A was
sold at Rs. 800 and 60% profit earned on it. Product B was sold at 25% profit. Find the
total cost of product A and product B (in rupees).

Ans  of 1 628
75 2.580
/X 3.548
X 4712

Question ID : 54592730398

Q.9 What approximate value will come in place of the question mark?

(13.96)* — (15.03)*> + (18.09)*> —32.65="?

Ans \f 1. 264
K 2,223
X 3334
X 4354

Question ID : 54592730381

Q10 x5+ 2x% — 323 + x2 + 2x + 8 divisible by x + 2 what will be remainder ?
Ans X' 1 108

v

5 3.16

X 464

Question ID : 54592730388

.
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Q.11 What should come in place of the question mark (?) in the following questions?

[12 x 5 - {200 - (501 + 247 - 386)}] = 2 = ?

Ans XK1 82
W2
X 362
& 461

Question ID : 54592730386

Q.12 How many numbers between 1 to 1000 which are multiples of 6 but not of 18?

Ans \fl. 111
X 2,110

X 3112
75 4,100

Question ID : 54592730390

Q.13 The ratio of number of males to females in a colony is 3: 2. The ratio of employed to
unemployed persons among males is 5 : 4. Find the ratio of employed males to the
total number of persons in the colony.

Ans  of 113
X 2.3:5
532
Koa:

a

N

Question ID : 54592730400

Q.14 The average age of seven men, ten women and two boys is 35 years. The average age
of all the seven men is 39 years. The average age of all the ten women is 36 years. Find
the average age of two boys (in years).

Ans K117
X 214
X 315
W 4 16

Question ID : 54592730391

Q.15 What should come in place of the question mark (?) in the following questions?

610 6
-X—+- X62=?
272 2

Ans X' 1175
X 2.170
/X 3.190
W 4. 180

Question ID : 54592730384

—
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Q.16 Aditi spends 48% of her income for food, 25% of the remaining on traveling, one third
of the remaining on entertainment which is equal to Rs. 2600. If she saves the rest,
find her saving (in rupees).

Ans X' 1 5450
W 2.5200
75 3.6500
X 4.4800

Question ID : 54592730396

Q.17 The marked price of a product is 40% above its cost price. Two successive discounts
of 10% and 5% are given on marked price. If the difference between two discounts is
Rs. 154, then find the difference between cost price and marked price (in Rupees).

Ans X' 1 720

X 2.750
/X 3.1000
W 2800

Question ID : 54592730393

Q.18 Shrikant sold a microwave by offering a discount of 10% and earned 35% profit. The
marked price of microwave is Rs. 18000. Find the profit earned by him (in Rupees).

Ans  of 1 4200

X 2.3600
X 3.4070
75 4.3950

Question ID : 54592730399

Q.19 What should come in place of the question mark (?) in the following questions?

24%2-13%2+72
19 N
Ans X' 1 22
W22
X 321
X 418

?

Question ID : 54592730385

Q.20 A milkman bought 60 litres of milk at Rs. 30 per litre. For every four litres of milk he
added one litre of water and sold the entire mixture at Rs. 32 per litre. Find his profit
percentage.

Ans x 1. 16.66 percent
J 2. 33.33 percent
x 3. 20 percent

x 4. 25 percent

Question ID : 54592730397
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Section : Arithmetic Ability2

Q.1 Theratio of volumes of two cubes is 343 : 729. What is the ratio of their total surface
areas?

Ans o 149 81
2781
/5 3.64:125
X 4.36:49

Question ID : 54592730413

Q.2 Rs. 7000 amounted to Rs. 8780.8 in 2 years at a certain rate of compound interest. In
what time will Rs. 9000 amounted to Rs. 12240 at the same rate of simple interest (in
years)?

Ans X' 1.2
o3
X 3.25
415

Question ID : 54592730404

Q.3 If the diagonal and the area of arectangle are 29 m and 420 square meter respectively,
what is the length of the rectangle?

Ans X' 1 22 meter

( 2. 21 meter

X 3. 18 meter

75 4.25 meter

Question ID : 54592730412

Q.4 40 men can finish a piece of work in 40 days. They started the work together, but after
every 10 days, 5 men leave the work, the whole work will finish in?
Ans x 1. 56 days

~ 2. 42§days

v 56§days

X 4. 54 days

Question ID : 54592730409

Q.5 Fournumbers (k—3), (k—1), (k+ 1) and (k + 5) are in proportion. Find the value of (k2 +k).
Ans X' 1 110

W 256

X 3.30

F )

[ ]
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l Question ID : 54592730402

J

Q.6 A Express train covers a distance of 3584 km in 2 days 8 hours. If it covers 1440 km on

the first day and 1608 km on the second day, by how much does the average speed of
the train or the remaining part of the journey differ from that for the entire journey?

J 1. 3 km/hrs

x 2. 2 km/hrs
X 3. 4 km/hrs

x 4. 10 km/hrs

Figure in degrees
13

Question ID : 54592730408

Q.7 The following pie-chart gives the break-up (in degrees) of land with various continents.
Answer the questions on the basis of the pie-chart given.

If the total area is 180 million sqg. miles, what will be the area under E and G?

( 1. 60 million sg.miles
x 2. 50 million sqg. miles
X 3. 56 million sq.miles

x 4. 46 million sqg.miles

Question ID : 54592730416

Q.8 Attherate of 9% per annum at simple interest a person obtained Rs. 864 as interest in

four years. How much more interest could he get if the rate of interest was 13% per

annum (in rupees)?

X 1656
75 2,548
W 3.384
X 4. 248

Question ID : 54592730403

Q.9 Thelength of a train and that of a platform are equal. If with a speed of 108 km/hr the

train crosses the platform in one minute. Then the length of the train (in metres) is:

o 1900
75 2.1800
75 3.2700
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X 4450

Question ID : 54592730406

Q.10 Two persons earns in theratio 4 : 7. If both earns Rs. 3000 more, the ratio of earning

will be 2 : 3. Find the sum of their earning (in rupees).

25 1.13200
o 2. 16500
75 3.15400
75 4. 19800

Question ID : 54592730401

taken by him to reach his office is:

5 1.75min
o 2.60 min
25 3.30 min
75 4.40 min

Q11 By walking at % of his usual speed Bholu reaches his office 20 minutes later than his usual time. The usual time

Question ID : 54592730407

many days B will alone complete the work?

Q.12 Ais 20% more efficient than B.They both together complete the work in 20 days.In how

and answer the question.

Production (in million tons)

7723 8893 9175 10017

6766 76.23

s 88 8

1520 1921 1922 1923 1524 1925 1926 1927

The difference of the production of steel in the year 1923 and 1924 is x% of year 1927.
Then the value of x approximately?

75 1.0.001
X 201
X 3001

Ans x 1. 12 days
X 2. 48 days
“ 3. 44 days
X 4. 24 days
Question ID : 54592730410
Q.13 The following table shows the world production of steel in 1920-1927. Study the table
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v IR

Question ID : 54592730420

Q.14 Sameer borrowed Rs.14000 at 15% per annum and Rs. 18000 at 11% per annum at
simple interest. The total interest paid by him at the end of the two years will be (in
rupees).

Ans X' 17240
W 2. 8160
X 3.7920
X 4.7600

Question ID : 54592730405

Q.15 A can complete awork in 10 days. B can complete the same work in 15 days. If B
starts the work and A joins him after 5 days, then in how many days will the work be
completed?

Ans X' 1.8
X 2.6
X 3.7
o

Question ID : 54592730411

Q.16 Study the following graph carefully to answer these questions:

Production of an article of Various Companies in a month

1000

950

- 888885

& Unit Produced

What is the approximate average number of article produced by all the Companies
together?

Ans X' 1 720
W 2 758
X 3.725
75 4.900

Question ID : 54592730418

Q.17 Refer the below data table and answer the following question.
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Weight (kg) Height (m)
Archita 67 1.63
Arpana 67 1.51
Arpita 57 1.56
Arundhati 73 1.59

Who has the least weight?
Ans qf 1. Arpita
x 2. Archita

x 3. Arundhati

x 4. Arpana

Question ID : 54592730415

Q.18 Study the following table carefully to answer these questions:

Populations (in thousands) of Six States over
the years
STATE

A B C D E F

1992 | 125 | 210 85 150 | 98 138
1995 | 135 | 225 89 170 | 110 | 152
1998 | 142 | 240 93 180 | 130 | 160
2001 | 148 | 250 99 215 | 140 | 175
2004 | 155 | 270 | 105 | 230 | 145 | 190
2007 | 160 | 290 | 110 | 240 | 160 | 198

Years

Which state had the highest percent rise in population from 2001 to 2004?

Ans Xl-B
X 2c
X 3D
o oF

Question ID : 54592730417

Q.19 Four equal sized maximum circular pages are cut off from a square paper sheet of
area 3136 square cm. The circumference of each plate is:

Ans " 1 89cm

X 2.86.cm
x 3.84cm
« 4.88 cm

Question ID : 54592730414

Q.20 Study the following graph carefully to answer these questions:
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Production and sale of Mobile of Various Companies in a month

10

CEEHEEBHBEE

e Unit Produced e Unit Sold

The total mobiles sold by Companies D, E and F together are approximately what
percent of the total mobiles produced by D, E and F together?

Ans X' 175 percent
“ 2. 86 percent
x 3. 28 percent

75 4.72 percent

Question ID : 54592730419

Section : General Englishl

Q.1 Identify the segment in the sentence which contains the grammatical error from the
given options.

One digger inillegal bore wells freely admitted to me that he had paid a bribe to get a
permit for a deep well-after he had already dug it.

Ans ( 1. One digger in illegal bore wells
x 2. freely admitted to me that
X 3. for a deep well

x 4. he had paid a bribe to get a permit

[ Question ID : 54592730424 ]

Q.2 Select the most appropriate word to fill in the blank.

The Indian Space Programme from its very inception geared towards
national development.

Ans X' 1 has
X 2. have
J 3. has been

X 4. have been

[ Question ID : 54592730432 ]

Q.3 Select the most appropriate word to fill in the blank.

The Indian law prohibits the employment children in factories but the law is
violated several times.
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Ans X' 1 py
x 2. from
W 3of
X 4 at

Question ID : 54592730431

Q.4 Identify the segment in the sentence which contains the grammatical error from the
given options.

A lunar eclipse occurs when the sun, Earth, and the moon align so that Earth’s
shadow falls above the lunar disk.

Ans x 1. A'lunar eclipse occurs
X 2. align so that Earth’s shadow
J 3. falls above the lunar disk.

X 4. when the sun, Earth, and the moon

Question ID : 54592730423

Q.5 Select the most appropriate word to fill in the blank.

the world moves away from capital intensive industrial base to knowledge
intensive information base, the role of the service sector will increase substantially.

Ans X 1 with

x 2. For
x 3. By
W 2As

Question ID : 54592730437

Q.6 Select the most appropriate word to fill in the blank.

The nineteenth century saw the advent of the telegraph, the telephone, and the camera
the development of the automobile.

Ans ( 1. along with
x 2. together as
X 3. in spite of

x 4. but also

Question ID : 54592730434

Q.7 Select the most appropriate word to fill in the blank.

Itis only initiative that one can take appropriate action to implement ideas,
programmes and projects.

Ans X' 1 by
x 2.in
« 3. through
x 4. beside

Question ID : 54592730436
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Select the most appropriate word to fill in the blank.

The practical gardener knows that both seed and the soil are necessary the
proper growth of a plant.

x 1. of
X 2. by
W 3 for
X 4.in

Question ID : 54592730433

Q.9 A sentence has four parts, rearrange the given parts so as to form a meaningful

sentence.

A: oversees groundwater extraction has just six employees,
B: enforce the law in this sprawling city.

C: In Bangalore, the governmental department that

D: and thus no earthly way to monitor and

W 1. cros
75 2.cDAB

/< 3.CBDA
75 4.CDBA

Question ID : 54592730440

Q.10 Select the most appropriate option to substitute the underlined segment in the given

sentence. If there is no need to substitute it, select option No substitution required.

To coping with the heats, many cities are planting trees and carving out open spaces.

x 1. No substitution required
75 2. Coped with the heat
X 3. Cope with the heat

( 4. To cope with the heat

Question ID : 54592730430

Q.11 Identify the segment in the sentence which contains the grammatical error from the

given options.

President John F. Kennedy deliver a stirring speech to Congress praising the
importance of sending an astronaut to the moon.

x 1. President John F. Kennedy
X 2. an astronaut to the moon.
x 3. praising the importance of sending

i 4. deliver a stirring speech

Question ID : 54592730421

Q.12 Rearrange the following sentences in their correct order to form a meaningful

paragraph.

A: For exotic beauty, few flowers rival the ghost orchid.
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B: It’s long been thought that only one insect, the giant sphinx moth, had a long
enough proboscis to pollinate these orchids—but new images and research prove that
wrong.

C: As they feed, moths rub against a pollen source and pick up grains they’ll transfer
to other orchids they visit.

D: These rare orchids have long nectar tubes into which moths stick their tongue like
proboscises to reach a sugary reward.

Ans X' 1 ACDB

/X 2.ACBD
/X 3.ABDC
o 2 Apce

Question ID : 54592730439

Q.13 Identify the segment in the sentence which contains the grammatical error from the
given options.

If you’re not actually studying the affect of emotions on others, we’re missing an
important social aspect.

Ans x 1. important social aspect.
X 2. we're missing an
J 3. the affect of emotions on others

X 4. If you're not actually studying

Question ID : 54592730425

Q.14 Select the most appropriate word to fill in the blank.

The major positive point of the communication revolution is that it has brought people
together and the feeling of a global village.

Ans ( 1. fostered

x 2. has foster

X 3. fostering
X 4. foster

Question ID : 54592730435

Q.15 Select the most appropriate word to fill in the blank.

being one of the ten most industrialized nations in the world, Indian industry
has lagged behind other countries in effective and proper use of inputs.

Ans \f 1. Despite
X 2. But
X 3. In spite
x 4. Because

Question ID : 54592730438

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

In October 1997, tourists near San Francisco, witnessed two killer whales attacked a
great white shark and consumed its liver.
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Ans x 1. No substitution required
x 2. attack a great white shark and consumed
X 3. attacked a great white shark and consume

J 4. attack a great white shark and consume

[ Question ID : 54592730426

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

The orca population off South Africa is less well studied than the one off California, in
part because humans rarely encounter them.

Ans ( 1. No substitution required
X 2. are less well studied than
x 3. are lesser well studied then the one

X 4. is less well study than the one

Question ID : 54592730429

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

Its like that orcas targeted shark livers because they’re high-fat and delicious.

Ans X" 1 Its likely that orcas targeted
x 2. Its like that orcas target
X 3. No substitution required

J 4. It's likely that orcas target

[ Question ID : 54592730427

Q.19 Identify the segment in the sentence which contains the grammatical error from the
given options.

Visitors to the Kennedy Space Center can learned about the progress and failures of
space exploration.

Ans ( 1. can learned about the
X 2. Visitors to the Kennedy Space Center
x 3. progress and failures

X 4. of space exploration.

Question ID : 54592730422

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

We all experience the constant drama of the new and the constant sorrow of the losing
of what we had left behind.

Ans x 1. the losing of what we had leaved behind
x 2. the loss for what we've leave behind
( 3. the loss of what we’ve left behind

x 4. No substitution required

(
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l Question ID : 54592730428 J

Section : General English2

Q.1 Select the word which means the same as the group of words given.

The practice or art of choosing, cooking, and eating good food.

Ans X' 1. Idolatry

x 2. Horticulture
x 3. Hydrophobia

“ 4. Gastronomy

Question ID : 54592730453

Q.2 Select the synonym of the given word.

Venerable
Ans X' 1 Primitive
X 2. Dependable
x 3. Conventional

“ 4. Celebrated

Question ID : 54592730446

Q.3 Select the word which means the same as the group of words given.

Relating to or affecting cattle.

Ans X' 1. Canine
( 2. Bovine
X 3. Feline
x 4. Leonine

[ Question ID : 54592730454 ]

Q.4 Select the synonym of the given word.

Erroneous

Ans ( 1. Mistaken
X 2. Accurate
x 3. Misfortune

X 4. Uncommon

Question ID : 54592730442

Q.5 Select the antonym of the given word.

Sophisticated
Ans X' 1 cultivated

x 2. Lukewarm

« 3. Unrefined
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x 4. Cynical
[ Question ID : 54592730445
Q.6 Select the meaning of the given idiom.
Pull yourself together
Ans X 1. To loosen the hold
x 2. To refuse to agree
( 3. To calm oneself down
X 4. To recollect past memories
[ Question ID : 54592730451
Q.7 Select the wrongly spelt word.
Ans “ 1. Dileberate
X 2. Pathology
x 3. Callous
x 4. Admonish
[ Question ID : 54592730448 ]
Q.8 Select the meaning of the given idiom.
Miss the boat
Ans X' 1.Toarrive late
X 2. Fail to board the train
x 3. To lose something valuable
“ 4. To lose the opportunity
[ Question ID : 54592730450
Q.9 Select the wrongly spelt word.
Ans X' 1. Chronicle
X 2. Salutation
< 3. Demean
o 2. Jubilliant
[ Question ID : 54592730449
Q.10 Select the wrongly spelt word.
Ans X 1. Beginning
x 2. Increment
“ 3. Zeallous
X 4. Imagination
[ Question ID : 54592730447
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Q.11 Select the meaning of the given idiom.

Back to square one
Ans x 1. To restart a failing business
x 2. To design something new
J 3. Back to the very first stage

x 4. To return favor

[ Question ID : 54592730452 ]

Q.12 Select the antonym of the given word.

Extravagant
Ans X' 1. Endearing
J 2. Reasonable
x 3. Reckless

/X 4. Credible

Question ID : 54592730443

Q.13 A sentence has four parts, rearrange the given parts so as to form a meaningful
sentence.

A: is full of sounds: birds chirping, wind rustling through trees,
B: the ears of both predator and prey are attuned to one another’s presence.
C: and insects humming about their business.

D: Even on the quietest days, the world.
Ans \f 1. DACB

75 2.DBCA
75 3.DABC
/X 4.DCBA

Question ID : 54592730441

Q.14 Select the word which means the same as the group of words given.

A passage between rows of seats in a building such as a church or theatre, an aircraft,
or train.

Ans X 1. Acronym

x 2. Antidote

X 3. Alimony
J 4. Aisle

[ Question ID : 54592730455 ]

Q.15 Select the synonym of the given word.

Hideous
Ans x 1. Sorrowful

J 2. Unpleasant
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K 3. Improper

x 4. Articulate

Question ID : 54592730444

Comprehension:

Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 16

Q.16 The mass communication tools available to the marketers doesn’t include:

75 1. Public Relations
f 2. Television
x 3. Sales Promotion

K 4. Advertising

[ Question ID : 54592730458

Comprehension:
Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer's mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
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the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.
SubQuestion No : 17

Q.17 From among the given options, choose the one which is most nearly the same as the
word ‘Cognition’ as used in the 2nd paragraph, 3rd line:

Ans x 1. Influence
x 2. Interference
\, 3. Perception

x 4. Distinction

Question ID : 54592730461

Comprehension:
Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’'s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 18
Q.18 As a subset of marketing mix, advertising is associated with one of the following:

Ans x 1. Price

x 2. Place

( 3. Promotion

x 4. Product

Question ID : 54592730457

Comprehension:

Answer the questions based on the following passage:
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Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 19

Q.19 Which of the following points has not been discussed in the passage?
Ans x 1. Factors influencing consumer behavior
\f 2. Competitive factors in the market

x 3. Impact of advertising on buying behavior

x 4. Marketing Mix

Question ID : 54592730459

Comprehension:

Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.qg. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer's mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 20
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Q.20 Consumerism is defined in the passage as:

Ans x 1. It is one of the factors in marketing mix.
x 2. Consumerism is a negative outcome of a globalized economy.
x 3. Consumerism is an influence on consumer’s attitude and behavior.

“ 4. Equating personal happiness with material possessions.

Question ID : 54592730460
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AU H B 9T T Y faAY0T IUAT T BT AT 3T 8?2

Ans X' 1 T AT § fb 1T O T AT |
\fz.a—s’g T, ST 3T TT8d g, T8 -3k H T8ko &

7% 3. S8t oief a8 T, SHHT ST’ gl
X 2 AsasA B BRI AEI

Question ID : 54592730484 ]
Q7 St vy Y ST, GHS! 7 S’ AdI> &P g 3y BT 9d- B |
Ans  of 1 T T IO AR O AR, TR Sred 1Y 7 ST
/X 2. Porges) arrad are 98 o1+ 31 BT
/X 3. 59 a% SeHt F g1y Ufd 99 B, 99 d% S A I8 o
X 4. 3B AR NS BTAF S HIF AV IS 8k ST 8
[ Question ID : 54592730496 ]

Q8 HIY WM 97 H IR U A FETTATE (A), (B), (C) 3R (D) Hih IITFI
AMYP T TTEATE P AT AP HH U H 6THIVI, HIHT, g1, T § P Ted TRT AT
THTEd oI A8 3198 TN A AT IS FH TS UFTHE TR A
YN HT HiH T HUPIIRIITETATT [ RFAG A DIS | T8 BT 999 P

FAR X BT fABN / (A) FHTAT A / (B) §68 HETHNR a0 g1/ (C) PI§ | T
9% ' (D) Ans X 18
v ona
X sc
X 4D

| Question ID : 54592730488 |

QY9 wRF WA B AP dF TS AY BT IYT DT |
Ans o 1 STl @ yaafid g 21

/X 2. FU P © Aeks P Fh|
X 3. faRKd HT I

/< 4.3 T SIAE

[ Question ID : 54592730489 ]
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QL0 FaaHG dHT ABH AT TN FAATIDIYS U
gIEm? Ans X 1. & el b o HT P GaRT BIH ek
el

X 2. % IaTF I AT Y B Tk Iadl
X 3. FIATH IO A ek ST S ST 2
\f4.$aaﬂ%a®m:rs'k' T

| Question ID : 54592730482 |

I |
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Q.11 259 fa®w U H favTH-f U968 HT N1 HE g8, ITHT 99+ & Fowu|
Ans X1 3P UG o 9 R AB gHA T F |

W 2 xms g Qe FIAMRANPRFAI L EI
X3\ as gR:3F 9 RN TR TS|
X 437, ® TR, T SR AR, TR LS

[ Question ID : 54592730490 ]

Q12 gy g@AT HYgTaX BT HT Y Bl
Ans X' 1 SEFT ST

K 2.9 g
(3.@@1:11%
X 4. 3 s

Question ID : 54592730493 ]

Q.13 «Higa &I go8 Uel g, sRreaw =M SSit & gl Tar 8 SI-91
ara@r A of 1 wRa

X 2 FfEa

F R E=)

p R

[ Question ID : 54592730483 ]

Q.14 wg a1 9| raxH-a68 &7 Terd aNT
game? AN X 1 fUdlg HEETSTEl
T

25 2. 3P U HUSIA AT S © & +ft, a1 A8k
/X 3.9 J TR-ER TR IUAYT fGT
W 2 Rg R T BE TS ARk g R

| Question ID : 54592730492 |

Q15 R % HeR EHT YTk & AT 1Y BT a4 B
Ans X1 S ST R I I T¢hR e

X 2. B U A g
X 3. Oeer

«4.@ X R BIFADRD

Question ID : 54592730491

Comprehension:

T oA T 3(UfSd TSI Pl UfeU 3R 97 & 3 o <kfowu|

e AUcH S RIRAATS T U1 Ak UM & 3ol FRIRT &1 GRIfoSTd Hr
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11 39 fRIRA & abTak
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THAAT T 3 IHT, G, fH, T AHMEIN T FITT - T & FAAUD
0T Bk fob GH) HIBR 3R JAFTAIRIBRK RN T T | S A1 b1 TR T
AVOTRT - R IGH AT GIRT T HUI BT & fAU R AU Vo R G
® AR BIT P GRMHAY =T I T €139 VIR &I AR W -
P YD SdT 3R TUF T VA5 THT H gk T € & ol 9o N A b TH =/ T
oWl 90 W FH BT HP DD, DM 8, 3(d: 3P VA H 77T
AT ot AT B SR 3(A: & AT ST IR AT SHFYHIRT AR dl {997 BT 8k
SR SHAY f1: 2 < Th0TH Ao ST WK TSI «=T P 91 U1 H Sl fa=
AR TS, 7 & S IR MAZAT 7 A «>T AT §, oAb IRT A IS
fAITRT 31T  feaTs U5 81 3d IRk 0T & ABVoHAVOIST - & an &
AHT F AN SMIE 1 39 I & Td T TH HABR 3ATp 3R fa9d-fa-ral sl
UG BT IE B BT 8l

SubQuestion No : 16
Q.16 gy e ImanyfPaw fraARISPR =T T T
FARE? ANS X 1. 307 AT &1 T B
F 7T I
X 2 - TSN T HH FRT & 7eT 9T T
/X 3. UR YIS W H BRI

“ 4. UAT-AHUAT HH XD cHUR dgld & 7cd 99T

| guestion ID : 54592730499 I

Comprehension:

H=r feo T 3USd ST B UfeU 3R 996" 7 R SkfSTUl

9 oIfFH AT S ThAdI 7 74, TP &G P 3Qd faHT B fadl gl G

e T HUCH g7 & WURAT S © U H Bk SIUM & 3O T R Dl TSI B
&N SH fRT D I GHTAKT Fhadl 7 3H IBbT, I, f T, T ¥ 3ifg I T/ &l
VIR T & FAHIUS 0Nk fb Gt HOHR 3R JIfGARIBRK X S T
3T AT P TRIFSId P AVOT R & TR Uad T GaRT 3T HUI S & AU T -
A0S VoA REYSD fAARIDBIT & fGRNHART T §9° 0 81 59 VAR
T AN R T F AYBIR ST SR AUF T VIs GHI TG AT H off

102

IH M AU R T @I 9d T & 8T HH AP, T AT
B, 30 TGP AV H 7771 IRT Ht SIfTaTd 1 SR 3fl: &, 741 BT Ha=1=1 T
SffYSHTRT TR ol 39T B Bk S MM FHIFAT : ] THRUT &b TToITE 5 I8k 81 2
<T@ FAHIOTH S GRIT 3UATS 718, 739 & M AR S s 7 Ad = T a9
T g, /e ART T cATU a1 319 7 faaTs usdl gl 3 Hi IRk U1 & JAbVoTH
AVATET RT & AT H ABT H AFTENT 138 81 37 I & T J Th HIHR
3 3R fA9T-FIATRI BT HT BT Ig HR 3T 8l
SubQuestion No : 17

Q17 geu H & IUR RT T HT YT IUT F A

gaim? Ans X 1.3 DTS faog T
K 2.3 IPT, TR T FH 1 guT T
¥ 3. ST A 8 $ Wi faATRreke

“4.G|TCI'FT$ S RFRA & URISY T

| guestion ID : 54592730498 |

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019281/1258019281S12D560/15680146085994096/112. .. 51/55




9/10/2019 https://cdn.digialm.com//per/g01/pub toucﬁsltzlngl(s}cleéngﬁjgDQIQ§6Je9/1258019281/ 1258019281S12D560/156801460859...

Comprehension:

H=r feo T 3USd ST B UfeU 3R 97 k" 7 R SkfSTUl

9 oTFAS AT & Fhadl 7 79, D &G BT 3Jd faHH B a1 8l afadd
UM S H UCHIH & RAT &, S UT H ok ST H ST Y R DI URISId H
&N S RfRA P I GhIAkT AhadT = 3T IDbT, T, f T, T I 3fifg gl 21
PO VT =T & FAHATUIG UM Sk b Tt
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HIPR 3ﬁ? HAfdARIDPRK RT I T 1 AT I A1 Ebaf ORIFSTA hT" VTR - RITWR
UGa T GART ST HUI BT & fAU R AU VoA RS H a1 HI
B ERMAY T §97 T 81 39 VIR BT AFTE IR -G B B
ST SR IUF T VNS THAH kT T H S M A B TH - T ofg: gl
90 TN FH U P SAF B AT §, 3d: T &P VAT H 79T IR 4
AT B SR 3{l: & 11 1 TR AT SHfUHIRT AR dl HI9Y B gk ST
STHAT : T BT AN STWR I T  H° 791 0T H SN =T 30T
g, 7 % SH AR AN AT 7 AR T SR 8, foHEH AN cATISH a1
3 = fadTs usdi gl 3fd I IRk U1 & ABbVoTHaVeldT /T & G d AbT &
ARTEIST S8 81 39 I & H{A H Uh YD 3T 3R fA9d-fa-T=T BT YT B
I8 B BT 8l

SubQuestion No : 18
Q.18 «sgTqeh fa-IT< ATH6 T[S USdr g I’ S a1 T H ‘36 BT Y
grg? Ans o 1. 3/@9u Ufed g1 ara
25 2. 2t gred ek B aTa
X 3.9 @ THY aIG gred g ardl
X 4t faRIY T gred 1 ara

| guestion ID : 54592730501 |

Comprehension:

H=r feo T 3UFSd ST B UfeU 3R 9% 7 R SkfSTUl

3 oIF® AN S TBAdl T 09, T F 9, G BT 3 faHT HR &1 g1 G

e G HUCH IH P RRAT P B UT H ok AUM & ST VR DI URIFSTd B
&N SH fRT D I GHTAKT Fhadl 7 3H IPbT, I, f T, T ¥ 3ifg I T/ &l
VIR T & FAHIUIS 0Nk fb Gt HOHR 3R JIfGARIBRK X S T
3T AT P TRIFSId P AVOT R & TR Uad T GaRT 3T HUI S & AU T -
A0S VoA REYSD fAARIDBIT b fGRNHART T §9° & 81 59 8VIAR
T AN R T F YD ST SR AUF T VIs GHI TG AT H off

102

IH M A BT R T @I 9d T & 8T HH AP, T AT
B, 3 TGP AV H 7771 IRT Ht SIfTad 1 SR 3fl: &, 741 BT Ha=1=1 T
SffYSHTRT TR Il 39T B Bk S MM FHIFAT : ] THRUT &b AIoITE & I8k 81 2
=T @ FHI U1 H S fG=IT 3018 TS, 73 & S IR S gdT 7 Ad R T &4
T g, /e ART T cATU fa-TR1 319 7 feaTs usdl gl 3 Hi IRk U1 & JAbVoTH
AVATET RT & AT H ABT H AFTEN 138 81 37 I & T J Th HIHR
3T 3R fA9T-FIATRI BT HT BT Ig HR T 8l

SubQuestion No : 19
Q.19 g wguix &1 Tar L us Iug d v 31
Ans X' 1 TeHEH$ TR
X 2. amde SR fA9-fAT BT 1Y
W 3= SR

X 4 MU AP T BIEARBRK HIT

| Question ID : 54592730500 I
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Comprehension:

H feT T UFST SN B UFET 3R 99 F° 7 TR GkfSTUl

9 TS AT S Ihadl = 09, I 6 §.1G DI 3Ud fahT HR Gl gl Sfaad

e T HUCHIA P WRAT & B Ul H gk MU P 3167 RFRT B URIFSId DR
T S RTA P T GHIAKT Jhadl = 3 IBT, I, f T, T I 3¢ Tt a1 &l
ﬂH‘QT =T & fAHT O b ‘Wﬂ?{kﬁiﬂﬂ-ﬁ HIhR @TWM#IQIQ”RK'—‘U SEIG]
T3S T B TRIFSTT BT AVAT BT & TR Ugd T GaRT
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STHAUIHIT & fAU R -FAHUTH Vo RS FH AR BIT B [GRN AR T
T T 1 9 VAR BT AT 8T WR R - & HfUSHIRT ST 3R TOf d
VS THI AT TE STaF M A T T T o9l ad e @ d
B Hh AP, B I §, 3d: T b VA H 7751 drT HI SId1I 81
SR 31: 4T T TR T SFUHIRT ATRT dl 3G9 B gk SR T ST F: =7
YPIOTH TG IIT/K IR =T B FHIOTH Sl fS]0T UATS 7T, 78 &
A AR AT AT 7 AR T ST 8, foHb TN I ¢TI fa-T=T 3 =
fa@rs Usdr gl 3 W IRk U1 & ApVolT dVol §T ] & ART S AbT 6 |
QIS ST 81 39 I & YA H Th YD 3T 3R fI9T-faT=I T HY BT I8
HI BT Bl
SubQuestion No : 20

Q.20 tgog &) HTAT | F911 & f>ou ®1=-H gieHr Jar fous urdt

PR AS X 1. TH U MY FG L T & Hf o d

B P Al

X 2. UeH TR HT RIS
X 3. -3 BT H A AT TSl
= S e

Question ID : 54592730502




